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f(x; a, b, p, q) =
axap−

bapB(p, q)( + (xb )
a)p+q

, x ≥ ,

q p a b B(u, v) = Γ(u)Γ(v)/Γ(u + v)

q →∞ b = q /aβ

g(x; a, β, p) =
axap− e−( x

β )a

βapΓ(p)
, x ≥ .

E(X) = μ F X

L(u) =
μ

∫ u

F− (x)dx, ≤ u ≤ ,

u L(u) F− (x) = inf{t : F (t) ≥ x}

G(F ) =

∫
(u− L(u))du.

G(F ) = −
μ

∫ ∞
F̄ (x)dx,

X F̄
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P (F ) = max
≤u≤

{u− L(u)}.

P (F ) =
μ

∫ ∞
max{ , x− μ}f(x)dx,

f(x; a, b, c) =
abcebx

(cebx + − c)a+
, x ≥ .

xmode c(a+ ) < c b a

xmode =
b
ln

( − c

ac

)
.

c = xmode = c(a + ) ≥

ab

xmedian =
b
ln

(
c− + a

√
c

)
.

E(X) =
F (a, a; a+ ; − c )

abca
,

G = − F ( a, a; a+ ; − c )

ca F (a, a; a+ ; − c )
,

mFn(a , a , ..., am; b , b , ..., bn;x) =

∞∑
i=

(a )i...(am)ix
i

(b )i...(bn)ii!
,

(a)i = (a)(a+ )...(a+ i− )
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f i xi+ xi Ii = [xi, xi+ ) g

Θ

L(Θ) = N !

g∏
i=

(Pi(Θ))
ni

ni!
,

N i ni i Pi(Θ) =
∫
Ii
f(x; Θ)dx

L(Θ) N =
∑

ni

�(Θ) =

g∑
i=

pi log(Pi(Θ)),

pi =
ni

N

SSE =

g∑
i=

(ni

N
− Pi(Θ̂)

)
,

K − S = max
≤i≤g

|Fn(xi)− F̂ (xi)|,

F̂ Fn
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q p b(β) a

σ μ

c
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q p b(β) a

σ μ

c
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